1 = IR

T (ER) XKetEoH Wiz H>NT

il

(ER) HEFEBOARIZE VMY E-FHRIT. BRI
R 2 G BN 5720, BEERIOFHIZHT- > Tit,
va— RE{To A ITENCB T 25 1 IRFIHICES & D
 AEEEIZEDOT [E=22~0RMIT748] ZIiT7b2\2

=3
=n

2
U
L

i H

e\

O

0 IR



1/

2)




2/

2)

18,371,100

16,701,000
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16,701,000
10,856,000
7,123,000
1.000 6,934,000
1.000 11,000
1.000 178,000
(4)x
6,934,000%x 53.850 53.850 3,733,000
(4+5+6+7)x
10,856,000x 53.850 53.850 5,845,000
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6,934,000
.000 6,934,000
.000 6,934,000
.000 6,732,000 6,732,000
20m 1.0 3.0m3/s, 1. .000 3,691,176 3,691,176

00
.65.4, .0 .000 3,041,280 3,041,280
6,732,456
.000 202,000 202,000
,1.00 ,1.00 ,0.00 ,0.00 .000 60,900 121,800

,0.5 ,0

,0.00 ,2.00 ,1.00 ,0.00 .0.5 .000 80,600 80,600

,0

202,400
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5,589
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